e A

SPIDER SHORT/ LONG ARM

CEILING PROJECTOR MOUNT



fl ULTRALIFT DESCRIPTION

SPIDER SHORT/ LONG ARM

Spider mounts are designed to provide a sturdy, safe, and flexible solution for all your projector
needs. Whether you require a projector mount for a small or large-scale installation, the Spider is the
ideal choice for professional installers.

Standard Pole Length:

The 'Spider' projector mount is equipped with a standard 1000 mm pole. However, we understand
that every installation may have unique requirements. Therefore, we offer custom pole lengths of up
to 3000 mm upon request. This allows you to adapt the mount to your specific installation
environment.

Secure Mounting:

One of the key features of Ultralift Australia's Spider projector mount is the bottom ball mount plate.
This design enables secure mounting to any surface, regardless of the angle. You can confidently
install your projector in any orientation without compromising its stability.

Universal Compatibility:

Our projector mount is compatible with projectors of all sizes. It includes a universal projector mount
with all the necessary fixing hardware. This ensures a hassle-free installation process, saving you
time and effort.

Optional Barrel Clamp:

To provide even greater flexibility, we offer an optional barrel clamp accessory for our Spider projector
mount. The barrel clamp allows for simple attachment to lighting bars or scaffolding, making it
convenient for various installations. This additional feature ensures that the Spider mount can adapt

to different mounting options per your requirements.



" ULTRALIFT DESCRIPTION

PRODUCT DIAGRAM

UL-0002
UL-0001 Assembly Bracket_ Sleeve Ceiling
Assembly Bracket Ceiling Rotation
Rotation/Angle
UL-1010
Ceiling Trim Ring
UL-1006

Pole 63.5 x 1.6 mm

UL-1002 UL-0007
Spider Arm Mount Plate Sleeve Ball Stud
UL-1001
Long/ Short Arm
e e
UL-1003

Spider Slotted Lock Ring



oy

PRODUCT DIAGRAM

UL-1081
Ball Stud

A
v T
s .
-

~

UL-0004

Assembly Spider Plate
CLAMP
Lighting Bar Clamp, Arch
Coupler
UL-1007SB
Assembly, Sleeve Ball Stud,
UL-0004 Side Welded With Gusset

Assembly Spider Plate



fj ULTRALIFT

DESCRIPTION

PARTS
SDR-70 SDR-1200 SDR-2000 SDR-3000 SDR-CLAMP SDAR,\'IEEEHT
UL-1001 UL-1001 UL-1001 UL-1001 UL-1001 UL-0007SB
UL-1002 UL-1002 UL-1002 UL-1002 UL-1002 UL-1003
UL-1003 UL-1003 UL-1003 UL-1003 UL-1003 UL-1010
UL-1081 UL-1081 UL-1081 UL-1081 UL-1081 UL-0002
Screw Kit UL-0007 UL-0007 UL-0007 CLAMP UL-0001
UL-1006 UL-1006 UL-1006 Screw Kit UL-1006
(1Meter) (2Meter) (8Meter) (1 to 3 Meter)
:*'_ UL-1010 UL-1010 UL-1010 UL-1002
E— UL-0002 UL-0002 UL-0002 UL-1001
UL-0001 UL-0001 UL-0001 Screw Kit
Screw Kit | Screw Kit | Screw Kit




lj ULTRALIFT DESCRIPTION

SCREW KIT

M4 Pan Phillips screws M5 Pan Phillips screws

A (12mrr.1 Long) 3 5 (12mn"1 Long) C@
Quantity: 4 Quantity: 4
To fasten certain Projectors to Mount Arm To fasten certain Projectors to Mount Arm
M4 Pan Phillips screws M5 Pan Phillips screws

. (20mn.1 Long) —13 - (20mn'.| Long) :@
Quantity: 4 Quantity: 4
To fasten certain Projectors to Mount Arm To fasten certain Projectors to Mount Arm
M4 Pan Phillips screws M5 Pan Phillips screws

E (35mn.1 Long) —13 - (40mn"| Long) (:@
Quantity: 4 Quantity: 4
To fasten certain Projectors to Mount Arm To fasten certain Projectors to Mount Arm
M6 Pan Phillips screws 5.3 x20x 1.25 Washers

- (12mm Long) C@ . Quantity: 4
Quantity: 4 Use with M4 or M5 Projector Mount
To fasten certain Projectors to Mount Arm Screws to fasten Projector to Arm.
M6 Pan Phillips screws Short Nylon Spacer

| (20mm Long) (:@ J (10mm Long) @
Quantity: 4 Quantity: 4
To fasten certain Projectors to Mount Arm Use with Projector Screws for some projectors
M6 Pan Phillips screws Long Nylon Spacer

- (35mm Long) :@ L (25mm Long) (j@
Quantity: 4 Quantity: 4
To fasten certain Projectors to Mount Arm Use with Projector Screws for some projectors
M6 x 80 Hex Head Screw M6 Nyloc

— Quantity: 2

M Quantity: 2 N Used with M6 Hex Head to fix Upper + @
To fasten Lower Sleeve to Pole Lower Sleeve to Pole.
Self Drilling into Metal Cable Ties

- Hex Tek Screws P Quantity: 6 &)
Quantity: 4

To fasten Upper & Lower Sleeve to Pole (2ea) For cable management to keep leads tidy



'I ULTRALIFT DESCRIPTION

BALL JOINT AT BASE PERMITS 360° ’f [
SWIVEL AND ANGULAR ADJUSTMENTS ®
/.
* CEILING
. \VJ/“\ | ]
VNV LCEILING
TRIM
RING
UPTO 3m
Q 20° MAX
»63.5
DETACHABLE & ROTATABLE TOP MOUNT
PROVIDES FLEXIBILITY FOR A VARIETY OF
MOUNTING CONFIGURATIONS
— *Jﬁ S |

ARMS CAN BE ADJUSTED TO SUIT
MAJORITY OF PROJECTORS




'] ULTRALIFT WARRANTY AND RETURN

WARRANTY AND RETURNS

At Ultralift Australia Pty Ltd, we take pride in our products being of the highest quality. Because of this, we
offer the following programs to ensure your satisfaction.

ULTRALIFT 3-YEAR WARRANTY

1. The product is warranted for 36 months from the invoice date. Subject to the conditions of this warranty,
Ultralift Australia or an authorised installer will perform necessary service on the product without charge for
parts or labour if, in the opinion of Ultralift Australia, the product is found to be faulty within the warranty
period.

2. This warranty only applies to Ultralift Australia products purchased from Ultralift Australia or an
authorised dealer.

3. This warranty only applies if the product has been installed and used by the manufacturer’s
recommendations (as noted in the instruction manual) under regular use and reasonable care (in the
opinion of Ultralift Australia). The warranty covers regular domestic, commercial or educational use only.
It does not cover damage, malfunction, neglect, the build-up of dirt or dust, abuse, maladjustment of
customer controls, mains supply problems, thunderstorm activity, infestation by insects or vermin,
tampering or repair by unauthorised persons (including unauthorised alterations), exposure to abnormally
corrosive conditions or any foreign object or matter having entered the product.

e

If warranty service is required, you should:
« Contact your installer for advice on how to rectify the issue.
» If this does not solve the problem, please call Ultralift Australia on +61 3 9459 0873 for advice.
« If the device requires service, return the product to Ultralift Australia for repair.
* Please Note: You must arrange freight and insurance to and from the device's location.
* Please ensure that items returned are packed appropriately.

5. The warranties hereby conferred do not extend to, and exclude, any costs associated with the installation,
de-installation, or re-installation of a product. This includes expenses related to the mounting, de-mounting,
or re-mounting any screen (and any other ancillary devices), delivery, handling, freighting, transportation
or insurance of the product or any part thereof or replacement to such installation, de-installation,
reinstallation, or transit.

Copyright © Ultralift Australia, all rights reserved.

82 Dougharty Road, Heidelberg West

l U LT RAL I F I Victoria 3081, Australia
Phone: +61 3 9459 0873

Email: sales@ultraliftaustralia.com.au



